MOD2 _UC14: Solve issues

(1 System presents the list of current issues )

ActionType:[Presentation]

ElementaryOp:[Presentation]

\_ none )

S

(2 Selecting committee selects the issue

ActionType:[Provision]

ElementaryOp:[Provision]

\_ none )

'

(3 Selecting committee marks the issue as considered positively\

ActionType:not recognized

ElementaryOp:none

\_ none )

3.A Selecting committee does not approve issue.]

(3.A1 Selecting committee marks the issue as considered negatively\

ActionType:not recognized

ElementaryOp:none

none )




